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HTHT=T 14397 ;
FHETICTRET 145911 %1 a5 FIae] & qigq ST 371 & @ 9Ierd Bl :

(1)

(it)

(i1i)

(iv)

(v)
(vi)

(vii)

(viii)

I8 Y¥7-97 gl GUS] 4 [QYrfod 9 T 8 - @Wue @, @, W, g 3K F /349
¥v7-77 4 Jo9l 1 qegr 13 & | @4t 3e ST 8

GUE & 7 J97 &I 1 T 5 7% 37fd TY-IF0T TR & Jo7 &, TP J97 2 37h] H
& | F% Fo7 T I 40 5G] & 37feh 787 §1 F1ET |

GUe & 7 J97 T8I 6 T 8 TF G-I FHR & Fo7 &, FAH J97 3 37H H7
8 | Icdh Y97 %7 I 80 Ieq] & 37ferek 787 &7 =ifey |

GUg T 4 97 GEgT 9 3K 10 FH-3709 IR & Yo7 & Yeddb I97 5 3Hl &1
g | J9% Fo7 &7 I 120 Vs5] @ 37fere 731 17 Fizw |

GUE T 7 J97 &7 11 37K 12 FG-3TERT 97 &, I Y97 4 371 #7 8 |

TS & § Y97 &7 18 FHIGA-3TGRT 8§ | I8 97 8 371 #7 3 5793 31 97 & -
13 (%) slaz/@ @ (1 37%) o7 13 (@) T @ (2 37%) |

97-77 7 GHT T HI3 [@HcT 78 & | d9fl, Fo I 7 dake faHey 7T @
g 1 08 3997 7 @ &aer vk &1 fasboq &7 I oifaw |

T %1 3774 ITR-JIedsT & 19 T By |

Eusg <h
(3t eg-3<ig ued) (5x2=10)
TR A9l 3R Igrmfaal 4 afaa a7 a1 g9 o= fomam ?
TS HIT | 2
23 H YREEd o 9199 & ®9 H YIS o Haw hl T hifau | 2
WRA  SEEeY ST Al TS ? T FHIWT | 2
A ST fRE YRR HgT T HE YUl A& 7 ? 2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

§729)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises five sections — Sections A, B, C, D and E.

There are 13 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 5 are very short answer type questions, carrying

2 marks each. Answer to each question should not exceed 40 words.

Section B - Questions no. 6 to 8 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

Section C - Questions no. 9 and 10 are long answer type questions, carrying

5 marks each. Answer to each question should not exceed 120 words.

Section D - Questions no. 11 and 12 are case-based questions, carrying

4 marks each.

Section E - Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

Attach map along with your answer-book.

SECTION A
(Very Short Answer Type Questions) (6x2=10)

Why did Indian merchants and industrialists support the Civil
Disobedience Movement ? Explain. 2

Examine the significance of pipeline as a means of transportation in the

country. 2
Why has India adopted a multi-party system ? Explain. 2
How is ‘Demand Deposit’ an essential feature of money ? 2
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(5.1) & fafmion & fofu STawaes SaRyd ammft - g ? 1
(5.2) I JTUN § Yo HaY T Th 318 ST, | 1
Qg @
(erg-3wa w9d) (3x3=9)
(%) RO AT HR SHIGATh @il H AR T HIWT | 3
JrqaT
(@) o, foxita Jomelt & T o 9 o &9 § fhd TR SR AT 8 ? T
hifoTe | 3

“Hul T gEEN W ged SR IO Idid | a1 WiE 9a1 i % fog
Al O I =1 H W@ F&0 91 |7 ARG % HeH H 39 AT hl gfe

T | 3
YA T TSHIfdeh el o USiehul IR ATal H A1 TR hi fHeh! i TIs
T | 3
Que T
(3w weT) (2x5=10)
(®) “Aepdd wEH, I gaearali (fGepedl) ¥ S&® & 7 39 o9 &
fareeteor i | 5
reran
(@) w9 g o diehad o fa=R % fou 9 awed o wRo w1 favey
HIT | 5
(%) I HRhI I T HINT T qRG T ISR i IedTizd H H THEH
qd g | 5
3T
(@) WeAmhd iU foh fohe TR Sveientor 4 =aTaeh WS < e ol JHTed
[ERIEN 5
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5.

10.

E2E
%-E

Study the given flowchart and answer the questions that follow :

Fibre Spinnin Weaving
Production Sl g Knitting

Garment
manufacture

Dyeing and
Finishing

(5.1) Which is the basic material required for garment manufacturing ? 1
(5.2) Give one example of value addition in the textile industry. 1
SECTION B
(Short-Answer Type Questions) (3x3=9)
(a)  Differentiate between formal and informal sources of Credit. 3
OR

(b) How does a bank work as a key component of the financial

system ? Explain. 3

“It was essential to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.” Support the
statement in reference to India. 3

Explain the role of Election Commission in the ‘registration and

recognition’ of political parties in India. 3
SECTION C
(Long-Answer Type Questions) (2x5=10)
(a) “Democracy is a better form of government than any other
alternative.” Analyse the statement. 5
OR
(b)  Analyse the reasons for the overwhelming support for the idea of
democracy all over the world. 5
(a)  Examine the factors which facilitate globalization in India. 5
OR
(b)  Assess, how globalization has touched the lives of larger society. 5
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11.

12.

Qs v

&

(ha-TeTiE 99 ) (2x4=8)

= fou U S @i eagEe afer 3R 35k = for T gt % 3w fafev
Tadaan feawd 6 v, 26 Jad, 1930

‘T favara g fop fordft off wome ht o v SHar =1 off I8 & eTswie

(inalienable) AfIHR 7 foh 37 AE fired, 19t Tgaa 1 et et R Sfam

&1 weft srrevIeRard gt g fomE 3 I wed o ufiqul sreE firdd | gumWT U8

ft fogamm 3 fop afe 8 Y Ter Ao ST o1 31 ARl & dfvd WEd! 8

3T g@Tcht 8 a1 a1 sl it TR i 9ga AT 3W T THIE HE Hl AR

2 | wra # fafew (foamht) wepr 3 9 o AT S9a1 1 Tadadr 4 dtd

foram 8 dfces IEF SHAT o1 WU foham 8 SR o9 I afifeies, TeHlfdes,

HiEh{deh T 3TeTfoeh & 9 A8 L fean B | gafa gam favamE 2 fo And

H AMEE €9 ° oA o WY 4T It gEdl Sl THE BT IO TS TH

T =fEe

(11.1) TIAAT ol YA RN ST TGN AR I H=1 TR 2

(11.2) 9T % AN gRT g1 TGS i STE9Th FIT /AT T 2

(11.3) HiIH & ATRR JEAIE (1930) % T hl SARSAT hIfVT |

= fou Tu S @ eaHgEe ufen 3 35k i for T et % 3w fafE

T referaen 6 Sfra Wt

95d AT d% YR AT UREed gadr U HifHd &9 a% @ foham S
o | fosr e Senfirhl & e % |1 SR 9 uftEsd % y9e & § fowega
I3 3 7 | T&W T i Tl aTel IiEET ¥ o HER TS S 9 § uiafda &
T 8 | UNEE 1 I8 Taehtd T=R el & faehr 6 Teadr 8 & 99d g Gohl
8 | sEifeTy uieed, H=R o ST Ush-gal o I3 2 |

AN YA 94 favmed oteew, fofagarsti, W qenm g 9 H@fﬁ@
a@mﬁ%ww%w%ﬁwmﬁg@gw%ﬁa Iy @
S NeRd, EHMERE, edl, giesH, Mt qun gewe, snfe sEes
GTHTRTeh-3TfH |o|eh|Hﬁ3Heh TR T HFER 2 | e & adia i
IR < AT Sl e Wk & 8 | I8 GAR o hl g foham & qef
IRMERI Sitaq o faw glaeneti 3 @rgat o serad i 2 |

(12.1) d9iEed & fam # fage fhe TR T HE=qul i & ?

4

1
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11.

12.

SECTION D

=

(Case-based questions) (2x4=8)

Read the case given below carefully and answer the questions that follow :
The Independence Day Pledge, 26 January, 1930

‘We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.
We believe also that if any government deprives a people of these rights
and oppresses them, the people have a further right to alter it or to
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but has based itself on the exploitation of
the masses, and has ruined India economically, politically, culturally, and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.’

(11.1) Why was freedom considered an inalienable right of the Indian
people ?

(11.2) Why was Purna Swaraj considered essential by the people of
India ?

(11.3) Explain the significance of the Lahore Session of Congress (1930).

Read the case given below carefully and answer the questions that follow :
Lifelines of National Economy

For a long time, trade and transport were restricted to a limited space.
With the development in science and technology, the area of influence of
trade and transport expanded far and wide. Today, the world has been
converted into a large village with the help of efficient and fast moving
transport. Transport has been able to achieve this with the help of
equally developed communication system. Therefore, transport,
communication and trade are complementary to each other.

Today, India is well-linked with the rest of the world despite its vast size,
diversity and linguistic and socio-cultural plurality. Railways, airways,
waterways, newspapers, radio, television, cinema and internet, etc. have
been contributing to its socio-economic progress in many ways. The
trades from local to international levels have added to the vitality of its
economy. It has enriched our life and added substantially to growing
amenities and facilities for the comforts of life.

(12.1) How is science an important factor in the development of
transport ?

4

1
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&

(12.2) HHEIAH o HEHideh Igadl sl qiasd T8 ThR Thihd Hdl 8 ?

e HIfT |
(12.3) Tet Tng & fofw =R & Hew o1 fagomor v | 2
Qg T
(arfes-smenta wea) (1+2=3)

13. () Tou U wRa & TeHifas @-aHts (98 11 W), § Hefdaied SR
H HEE@ ¥ A’ % ¥ H Tafed Tl qgeE HNT R IEh 9™
il T8 {@1 W 35H! g8l A9 fafaw |

A. 98 T Jal TEHT o RO TEEINT eI bl I1ud o= T | 1
Gi) feu T wRa & = TeraEe w AEfifiea s sifed hifse R 399

am fafey |
(%) @) U ] SA GIF 1
arera
(II)  STeIe | oISt qTeh 1
(@) sfeu el sTmisd gamg e 1
qie:  FEfciRad Iu7 Fa GRETEAT qemdat & 077 ¥o7 &I 13 & €& T/
g/ 3x1=3
(13.1) 39 T o1 A foiflgu Sret 1927 0 vrdia Usda g &1 stfeesH
7T | 1
(13.2) (%) 38 TsF o1 9 faIRau gt T ] Soft a2 fedra 2 | 1
Jrra
(@) 38 T 1 T fafgu Jgt siTeqe Areea?i doiars ureh a3 | 1
(13.3) 39 W 1 7 foaiRgu &t sfeu ieht sraifsda garg o= feva 2 | 1
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(12.2) How has transport integrated socio-cultural plurality ? Explain.

[OFO]
N~ W

(12.3) Analyse the significance of communication for a nation.

SECTION E
(Map-Based Question) (1+2=3)

13. (@) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information

and write its correct name on the line marked near it.

A. The place where Non-Cooperation Movement was called off

due to violence. 1

(i1))  On the same given map of India, locate and label the following :

(@ (@D Narora Nuclear Power Plant 1
OR

(I1) Bengaluru Software Technology Park 1

(b)  Indira Gandhi International Airport 1

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. 3x1=3

(13.1) Name the State where the session of Indian National Congress
was held in 1927. 1

(13.2) (a) Name the State where Narora Nuclear Power Plant is
located. 1

OR

(b)  Name the State where Bengaluru Software Technology Park
is located. 1

(13.3) Name the city where Indira Gandhi International Airport is
located. 1

o2 Page 9 32/1/1



#



For question no. 13

%‘-E

km
100500

Scale 1.15000,000 km
100 200 300 400 500

WA T {GT-AE (TS aes)
p— Outline Map of India (Political)

i
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